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Answer any five questions
All questions carry equal marks

Two cards are selected at random from 10 ¢ards numbered 1 to 10. Find the

i) The two cards are drawa together.

-1i) The two cards are drawn one after the other with replacement

. A raridom varidble X has the following dlstrlbutlon

x 12 . 3 4 5 ~'l'}i.‘,,6' 1.
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Average number of aéeldents on4fi 1.1 ‘_atlonal hlgh way is 1 8 Determme
the probability that the number/of aceidents ar |
i) At least one N { 11) At thie most one

00 stu\dents nac lags is normally distributed with mean 66 mches
and standard dey Iation 5 mches\F-l-nd the number of students.
1) between Gg\and 70 m%es“‘“ . \\ ‘i) greater than or equal to 72 iriches.

ible of 49 tyres with a mean life of 15200 is dfawn
ch has a mean life of 15150 km. and a standard
€ validity of the ¢laim o

The mean welght of 45"male students is 70 kgs with a standard dev1at10n of 10
where as the mean weight of another set of 80 male students is 68 kgs with a

" standard deviation of 12, Test the mgmﬁeanee between the dlfference of two

means at 5% level

- die is unblased
In a sample of 500 students 15 usé ball pens, and among 800 of another sample 80

use ball pens. Construct large sample 99% confidence interval for the true
difference of two proportions.

For a random sample of 10 pigs, fed on diet A, the increase in a certain period
were 10, 6, 16, 17, 13, 12, 8, 14, 15, 9 Ibs, for another random sample of 12 pigs
fed on diet B. The increases in the same period were 7, 13, 22, 15, 12, 14, 18, 8,
21, 23, 10, 17 Ibs. Find if the two samples are significantly dlfferent regarding the

effect of diet.
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d) The. probablhty that }he ; gehty‘r

leen ‘the followrng results for the helghts x) and the welghts (y) of
10 policemen mean height is 68 inches and mean wervht is 159 Ibs, r =.0.5,

o, =25 and 0' = 201bs. Find

i) Theheight ofa particular policeman whose weight is 200 Ibs
i1} The weight of a particular policeman whose height is 5 feet.

- The following are the marks obtained:by 8 students in Economics and Statistics:
: Calculate the coefﬁcrent of rank correlatron

Economlcs 78 56 36 66 25:!:”75 82%:‘%2
Statistics |84 | 44| 57/ 58 | 60 68 | 62 | 58

A fast-food restaurant has one drive window. €ars arrive: according to a poisson
process. Cars arrive at the rate of 2 per 5 minutes. The service time per customer
is 1.5:minutes. Determine : :
a) The Expected number of customers waltzng to be served

b) The:probability that the wai I“Tgrlmc exceeds;10

¢) Average waiting time unfil, 'ustemer reaches the window to place an order

: retal ‘5% of thelr customers and 85% transformed t
store‘I-and sto‘r . Sfore i etdin 40% of theit customers‘and 50% transformed t
store 1 and10% to §tore2 /; ~
a) What proportlon‘scg‘f custom/e’rs retdin by Feb- lst and Magch 1%
b) Fmd the long run proportions.

~=-00000-—



